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TEST BOOKLET
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A

1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIE TEST BOOKLET IES ANOT HAVE ARNY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 50, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsihility to encode and fill in the Roll Number and Test
Booklet Series Cede A, B, C or I} carefully and withoot any omission or discrepancy al the
nppmpﬂm&m in the OME Answer Sheet. Any omission‘discrepancy will render the Answer
Sheat linble rojeetion,

You have to enter your Roll Number on the

Test Booklet in the Box provided alengside,

DO NOT weiwe anything efse on the Test Booklet.
This Test Booklet coptains 120 items {questions). Each item is printed both in Hindi and English,
except for Questions relating to English Language which are in English only. Each item eomprises
four responses (answorsh, You will select the response which you want to mark on the Answer Sheet.
In rase, vou feal that there i3 more than one correct response, mork the response which vou consider
the best. In any case, chovse ONLY ONE response for esch item.

You hove te mark all yvour responses ONLY on the separate Answer Sheet provided, See directions
in the Answer Sheet,

All itoms earry equal marks.

Befiore you proceed to mark in the Answer Sheet the responae to various items in the Teat Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent o you with your
Admisgion Certificate.

After vou have completed filling in all vour responses on the Answer Sheet and the examination has
eoncluded, you should hand over to the Invigilator ondy the Answer Sheet, You are permitied to
take away with you the Teat Booklet.

Bheets for rough work are appended in the Teat Booklet at the end.

Penaliy for wrong answers ;

THERE WILL BE PENALTY POR WRONG ANSWERS MARKED BY THE CANIMDATE,

1y Thers are foar alternatives for the answer to every question. For earhﬁueslinn which has n penalty for
which & wrong angwer has beeon given by the candidate, one-third (0=33) of the marks assigned to that
question will be diducted s penalty.

fiit If & candidute rives more than one aneswer, it will be treated as 8 wrong answer even il one of the given
nnewers happens to bo eorvect and there will be same penalty as above to that question, if it hae o penolty,

[iii} If & quostion ie left blank. ie., oo answer ia given by the candidate, there will be mo penaliy for that
fuestion,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO IO S0

BT X ¢ AN W (R ST GRS & (Tee O 91 e B |

{(1-A)
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Directions : The following ten (10) items (items 1 to | 8

1) are on English Language; therefore, these items
o ot fave Hingdl Veraion.

1.

What is the indication out of the sentence :
T gave kim a piece of my mind’ 7

{nl Appreciation

bl Warning

(¢} Grecting

(d) Seolding L
What is the meaning of the expression :
*Blue blood"?

{al Polluted industrial waste water

(b Sap of teak wood

(el An aristocrat

idd A costly object

‘He wae hoist by his own petard’ refers to

{a} He had problems as & result of his own
plans to hurt others

(bl Hewas high up on the pole

ic) He would uvsuslly run away from
troukle

id}  He was indifferent to his surroundinga

What is a Ballad 7

{8} Anovel

ib) A historical narration

() A popular story or folktale in verse

(dy  Musical comedy

Flagiariam means

i)

()
L)

id)

There was an epidemic of plagee i the
ared 8,

It is & sort of political philosophy

It imdicates a happy community spirit
like in playving Holi

It is presenting the work of semeecne
glze s one's own

(2=A)

Rivalry between the two clans has become
water under the bridge means

(a) The rivalry continues

(b) It has become a thing of the past
{e) It connects the two clans

{d} It ie not forgotten

Conaider the sentence
The teacher pave me the book'
1 2 3 4 & &

where the words are npumbered for
convenience of reference, Consider also the
insertion of a single word ‘only’ inte this
genitence to indicate a desired emphasis,
Where zhall thizs word be inserted if the
emphasie is to be

til  On the recipient

{ii} On the uniquencss of the item given
{iii} On the giver

reapectively (only one at a time) ?

fal (i) Between 3-4: (i} After 6;
[iii] Betwesn 2-3

b (1) Betwesn 3-4; {11) Between 5-6;
(iii} Before 1

il (i} Between 4-G; (1i) Bebween d-3;
{mi) Afterl

(dl (i) Between 2-F (i) Between 4-5;

{iii} Between 1-2

What is the meanimg of the term ‘didactic’ 7
(m)  Intended to be inspirational

i} Teaching a moral lesson

(¢}  Heceived as comical

{d) Sharing an informative experience




Frder : Feferfier &5 o) s (swrE 1 #@ 10)
Ay @ & & e & e e # s
TET G T g g

1. What is the indication out of the sentence :
I pave him a piece of my mind' 7
(a) Appreciation

{b)  Warning
{e]  Greeting
id)  Secolding

2. What is the meaning of the expression :
‘Blue biood"?

{a)  Polluted industrial waste water
‘b Bap of teak wood

()  An aristocrat

id} A costly object

#.  ‘Hewas hoist by his own petard’ refers to

(al He had problems ns a result of his own
plans to hurt others

(k)  Hewas high up on the pele

fe} He would uvsuallyr run away from
trouble

(d) Hewas indifferent to his surroundings

4. What iz a Ballad ?
la}  Amnovel
b} A historical narration
el A popular story or folktale in verse
(dy Musical comedy

6. Plagiarism means

() There was an epidemic of plague in the
anea

(b} Ttis a sort of political philosophy

tel It indicates 8 happy community spirit
like in playing Holi

{d) It is presenting the work of someone
else as one's own

B (3-A)

Rivalry between the two clans has become
water under the bridge means

(a} The rivalry continues

ib) It has become a thing of the past
e} It eonnects the two elans

d) It is not forgotten

Consider the sentence -
The tepcher gave me the book'.
1 2 & 4 [ [

where the words are numbered for
convendence of reference, Consider also the
insertion of a single word ‘only’ into this
gsentence to indicate & desired emphasis.
Where shall this word be inserted il the
emphasiz iz Lo be

il On the recipient
(i) On the uniqueness of the item given
{111} On the giver
reapectively lonly one at a bme) 7
tal (i} Between 3-4; (il) After 6;
(iii} Bebween 2-3

(b1 (i) Between 3-4; (i) Between 5-6:
(iii} Before 1

(el (i}  Between 4-5; (i) Botween 3-4;
(iil) After 1

(dl {1y  Between 2-3; (n) Between 4-5;
(iii) Between 1-2

What is the meaning of the term ‘didactic’ ?
(2! Intended to be mspirational

(b} Teaching a moral lesson

(e} Heceived as comical

(d) Sharing an informative sxperience ‘
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1.

11.

Consider the statement : *The message of
peace and brotherhood permeated the address
by the Chigf Guest.” Which of the following 1s
meant by permeafe’ in this statement 7

{al  Toadvocate

ib) Tospread all over

(el 'TI'oanchor and stahilize

d} Toleave a permanent impreasion

Arrange the following to  form a
grammatically correct sentence :

y Einstein was

2, although a great scientist
3. weak in Arithmetic

4.  right from his echool days

Select the correct answer using the codes
given below :

ia) 4,1, 3and2
(b)) 2,1,3and4
&) 4,3 land2
{d}y 2,3.1and4

What is the chronological sequence of the
following events ¥

First Battle of Panipat
Vietnam War

French Bevolution
First Gulf War

World War 1

o B B

Select the correct answer using the codes
given below :

fa) 1,5,3,Zand4

b} 3,15 4dand?2

(¢} 3,1,4,6and2

id) 1,3, 5 2and4

v (4=

12,

13.

A)

A branch of scholarship that flourished In
Europe, particularly from the fifteenth to the
eighteenth centuries, and was devoted to the
appreciation, chronicling and classification of
historic and non-organic relics, monuments
and old texts refers to

(e}  Archaeology
(hi  History
{cy  Architecture

id)  Antiguarianiam

Which of the following statements are correct
in respect of ‘Stridhana’ ?

1. Wariousz types of movable property
gified 0 8 womsn op  various
occasions during her lifetime,

b Various tvpes of movable properiy
gifted to 8 woman ot the tme of
her first marriage,

a3, On the woman’s death, this weonlih
eould be inherited by her children
arvl husband.

4, On the woman's death, this wealth
eouifd b inherited by her natural
legally adopted children, with none of
the sons-in-low, having any
elaim on any part thereof,

Select the correct answer using the codes
given below :

ia) 2and3 only
(b} 2 and4 only
(e 1and4only

{d} 1 and3donly
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10,

L1.

B-C

Consider the statement : *The messoge of
peace and brotherfood permeated the oddress
by the Chief Guest." Which of the following is
meant by ‘permeate’ in this stotement 7

(g} Toadvocate

(b  Tospread all over

ie} Toanchor and stabilize

(d) Toleave a permanent impression
Arrange the following to form &

grammatically correct sentence :
1. Einstein was

2 although a great scientist
3. weak in Arithmetie

4. right from his school days

Select the correct answer using the codes
given below ;

{a}) 4,1,3and?2

(b} 2,1,83and4

(¢} 4,8 land?2

(d) 2,3 land4
Fre=firfign wemmadt w1 wremes v & 7
1. WHIH W OIeE I

2. famam gg

3. W wi

4, TR EE g

5. wuH v gg

it fom v 2 W W I g
(a) 1,563,234

b} 31,5432

(e} 4,1,453M2

) 1,3,5 234

(8-

12,

13.

Al

fergen o1 we v, o gl 8, fadem ol
H wawedl wywiEgd e wellmel s
At o srdfaw e, R A
o gemd % EmfEes, s
v wiieam &) waida ff, e fide sl 8 2
(n) YOAEETEA

)  3foEm

le) FE=ERE

(dy TIA-HEg

‘et & omn § Frefafen wad § @ daa
i # o

1. fafum wen 6 59 aofy @ ouw of =
g Aawere d Rfie smod woagEn
W wg o & el 8

5. fifim uen 1 5= gwfn @ s = #
0% vy FEm & oy IwE =Eg A
Ecis

3. ot it geg W, @ g3 3mh) G s
afe &t faoom o s gwa )

4 ot & g, 3% w9 s AuliE s
aeeh daml = faren | fam wwa 2, s
Tk R iy sk gl § 9
Ferefl 1 off wrd g w87 B wwan |

2 R o g w1 v o al I ghe

{a) Fam 2T 3

by  whaw 2 H 4

(¢) “haw 13N 4

(d) e 1 33
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14.

L.

iT.

What is the number of States and Union
Territories in India 7

ial  ZBand &
(b} 2Band7
{e) 20and?7
id) 2Bandé6

Which of the [bllowing is not true of the
Western Ghats 7

ia} UNESCD declared 39 places in the
Weatern Ghats as “World Heritage Sites'

in 20012

(b} It is one of the eight hottest hotspots of
biological diversity in the world

{e} It has two reserves and thirteen
national parks

id} ONGC surveys have recently found
huge oil reserves

Ayodhya ia located st the bank of which

river T

{a) Falgu
{b) Ganga
(e) Barayu
idl  Yamuna

The Khilafat Committee accepted Mahatma

Gandhi's suggestion for a non-violent
non-ceoperation profest  against  the
Government in its meeting at

(a) Bombay

by Nagpur

e}  Allahahad

(d) Kanpor

£

18. What is Know India Programme (KIP) ?

1.

(B-A)

(a} A programme for children aged 12 - 15
yeare from rural areas to make them
aware of different aspects of India

(b} A programme that facilitates visits of

rural teachers to different parts of the
country

el  An out-reach programme of the
Ministry of External Affairs to buoild
closer ties with Indin's neighbourhood

A programme for diaspora youth to
promote owareness among them about
different aspects of India

(d}

What is the perimeter of the figure shown
below 7

A B
L o
10 E F
J 12 I

Ad =10 em; JI = 12 cm,
AB=%,CDe2x+ 1, EF=x+2 GH=%x+3,
BC=DE=FG=HI=v¥

(a) 44 cm
(b} 48 cm
ic) Bdom
(d) 5B8¢m

Special Boenomic Zones (SEZ) are developed
o

{a} Generate additional ecomomic activity
throughout the country
(b}  Beautify suburban areas

(¢} Upgrade the facilities in the countryvside

(d} Promote investment from demestic and
foreign sources




14.

15.

16,

17.

urE § R e s da egdy §
26 3 &
98 31 7
2g 3T 7
28 91 &

iml
{b)
el
id]

offadht e & it 8 frsfafam § & | 5

FET R Y

(a) UNESCO 3 2012 # uiradfi o= &
50 T w o e s difee e

7% frs % da.Rfem 39 ae Toem
AeEE! (Hee wlemaie) 8 ww R

H T wlém W 8w e e

FMAR

& A 0 ONGC waww W fawe 4w
e o #

(b
14

(d}

Fen Fa @ F wm saRm gy
(a) T

(b} T
(e T
(d) =g

famres w04 3 o em e AW B
i mpen v &, www & ey sfterew
wram faity & geme =t e a0

(@) wEd
(b) IR
) TEATHERE

{d) AR

(7-A)

18,

“WWA W AT wREEEE (KIP) TR 7

oo & % 12 - 15 9 A % W= 6
fom, w2 s & fafts wegsl & ait 4

et TR & 2w % fafios wen o we
F1 T T B FHEA

FE & TEE 2 F ' Feew e
=14 % fom few Tarem R SR

fil & wt wwefry yai & foro, W &
faferm wemsl % Fsn 4 apreem awR
21w

N

b

L

(e}

19. A 2o nd snmfa e ofverg feam @ 9

20.

A B
C D
.. H
J 12 I

Ad =10 em, JI= 12 em,
AB=xCD=x+1,EF=x+2 GH=x+3,
BO=DE=FG=Hl=y
44 em
45 cm
b4 cm
68 cm

Lol
(b
)
id)

fom anfd= & (9EZ) W fen fem fasiim

R mm # 7

m T oW U afafe anfdw ofafaf e
w0 & fom

iy IoE A & gl & fo

(e} EE § gRnsdl w3 w3 % B

i) %ﬂgﬁmﬁi&ﬁﬁiﬁﬁﬁﬁm%ﬂ'ﬁﬁﬂ%



21.

Which of the following statements reflect the
distinctive features sbout 6 century BCE
Ganas or Sanghss 7

e The ancient Indian Ganas wers
aligarchies.
2 The ancient Indian Ganas wene

pon-monarchical states,

3. Magadha, Kosala, Vatsa and Awant
were the most powerful States of

that era.
4, The procedures of the Buddhist
monastic  order  (Sangha) were

patterned on the Sangha politics.

Select the correct answer using the codes
given below :

(a) 1,2and3 only
by 1,2, 3and 4
el 1,2 and 4 only
id) 3 and 4enly

What is the chronological sequence of the
following developments 7

1.  Dwecline in the export of Indian eotton
a Cotton boom in Indis

a1, Civil War in America

Select the correct answer using the codes
given below :

(a) 1, 3and2
iby & 3andl
cd 1,2and3

(dy 2 landd

Which of the following are the typical
differences between the private insurance

programmes &nd the social insurance

ProgTammes ¥

L Adeguacy versus Equity

2. Voluntary VETEUS Mandatory
Participation

3. Contractual versus Statutory Rights
4.  Funding

Select the correct answer using the codes
given below

in) 1,2and 3 only
(k) 1,2 and 4 only
(el Fanddonly
(dr 1,2, 3and4

“Unbalanced’ Growth is hypothesized when

{a) Expansion can take place
simulianeously on several growth
ronles

by Supply of labour ie fixed
icd  Supply of capital iz unlimited

{d} Active sectors need to, and do energize
sluggish sectors

Which of the following are incorporated in the

Government approved National Telecom

Policy, 2012 7

1. Broadband for all with a minimum
download speed of two megabita per
aecond

2 India’s rural tele-density to be improved
from %% to 70% in the next five years

3.  Roaming charges shall be serapped

Select the eorrect answer using the codes
given below ;

ia} 1and2only
(b} 1and3only
(e} 2and 3 only
fd) L Z2and3




21, F=fafEs =11 d 3 =928, =5 9= BCE
= M 41wl & Tafiee el w5 aftfefia
w B 7

1. s st T s o
2. wrels v T Ao oer 8

3. WY, wiEE, e we oy am ogn &
watfies wfreeft e &

4. Wiz we wwEem (q9) &1 wEfEt \g
At o afielie ad off

A& e e g W v w0l ghe
(a) W 1,230 3

b} 1,2, 334

(e] 'muam

(dy FEE 33 4

22, Fr=fafgs vemd =1 w0 2 2
1. YrArE woa & Fai b e
2. WA H FIE IS § A
3. W R gg
i faw o e w1 wEm W ad T g
{a) 1,332
b 2,331
el 1,233
d) 2133

o3, frofafim # & #Rd feh (wede) $m

i wan wretas At SewET @ A Ted
frim ¢

1, A 9 A3

2. wf=es m wiaEs aemf
3, Wi T i sfien

4. fdm

4 fam 7o g %1 wEm W=l I g
(a) e 1,233

() EE L2 %N 4

{c) oherel 3 W 4

d) 1,233 4

‘ayefen gafy mw ges a6 2, 5=

(a) wam, fafew wafz =l = =A@ w@

TFA A
k) =g
() ﬁﬁqﬁ'ﬂﬁﬂﬁﬂﬂ
(d) WiFg G F fow A e e R A

e 93 &awl w farsdis et o &
Torarefter &mme &

frfafign 8§ 8 sWa, wen go sl
ot gran i, o1z w2

1. o trfeze Wi E6E i e SEes
TN & |, Wit & o alede

9 M ulg @& H WmA % umdim

omEe (Eef3R) ® sew B I
i T A

3. Dfm wanl =t gaw fEm S

4 fam 2 @ wEm = A I gi
{a) el 132

) FE= 133

(e) whaw 233

) 1,233




a27.

Which of the following is one of the
Millennium Development Goals fixed by the
UNO ?

ial Halving extreme poverty and halting
the spread of HIV/AIDS
ib) Develop a new wvariety of feodgrains

which can ensure bumper ¢rops

g} To ensure that population dogs not
increase in the least developed countries

Duevelop procedures towards adequate
and timely forewsrning on hurricanes
and tsunamis

id)

The term ‘Carbon footprint’ means
(a) A region which is rich in coal mines

(b}  The amount of reduction in the emis=zion
of CO,, by a country

(e} The use of Carbon in manufacturing
industries

{d} The amount of pgreenhouse pases

produced by our day-to-day activities

Amongst the following, who is the latest
recipient of the ‘Bharat Hatna® award ?

{a) Bachin Tendullear
ik} Atal Bihar Vajpayee
(el  Amartya Sen

(d)y AP.J Abdul Kalam

‘Green Revolution' in India was expeditiously
fenaihle in zones of

Hich rainfall
Moderate rainfall

il
(b
g} Assured irrigation

idy  Higher population density

APA

31.

(10-A)

What i Apartheid 7

(g} Aninternational organization of peace
(b} A medical term

(¢l Atrade chorter

(dl A poliey of racial segregation

Transportation plays a great role in any
economy. Which of the following modes of
transportation has the highest elasticity 7

(Al Air
fb). Rail
(g} Hoad
(dy ‘Water

How does an expansionary monetary policy
affect. the rate of interest and level of income 7

{al Ramses the level of ineome buat lowoers
the rate of interest
(b} Raizes the rate of interest but lowers

the lewel of income

(e} Raises both, the rate of interest and the
tevel of income

id1 Lowers both, the rate of interest and the

lewval of income

In a medium-size township, the trend of
annual immigration is an addition of 20% of
the population az it was ot the beginning; also
15% of the population as it was at the
beginning is estimated to relocate elsewhers
every year. [f the current population is B0000,
what iz the likely population three years
hence 7

@) HOOOD
(b} BLZ00
e} B2000
d) 92610
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2g. Trfaias O O s us, UNO Zm Frem feo

m AEEe Arm e E R T R 7

(n) FEtaE Bdam = wm = o wE
HN HIV/AIDS & war gt fagm &

(by TEmorEl T e e s S s
T Hi P W
(c) AR FHTEn wen R sewrs fasfar

4 5 A 95

() wEw w gt & R d wane s
g W o9d Se 3 ot e
EEAELEETE]

‘T FeiaT wee w1 W s B o

(a) T &0, N FEA ) @H D WE R

() Tl 29 gW Co, % aegda | i nf =l
=t 7

e} Tafmim somi 4 s % wm
) w Temd % feumeed @ ww
HHETER a1 & g

- Fofafem d & wmm = gEw W st
wrerERAL e R 7

(a) T FgEem

(b} vz Tamedt svadt
(e} STEd A

(d} wHLH, FEgE FTEW

. WA A Fiw wi e a o e e o g
(a) Fea Wi AT

(hy S o AT

e} Fifrem foamg amet

(d) Fee AHE S A

30, T¥E (srordE) TR e

al1.

(a) W &1 UF S WA
iy Tl Tt =
(e} THTERTIE SITOTOY
(d) WA ' B ous i

ottt ot sefemmen # hees v = i
Fram 2 | oftems & Fafefes gwnd 4 &
ol g s R 0

(g) Y

by =

) HEH

) =

v &) difes dife fem e @ @
AU A w0 w i g oo

(&) ¥ TN K SR oW wWW W W
werdt #

(b) WE T F OTEE R TR AW E W
et B

(e} HTH T W 3 A ) o A
(d) SUTE TT T 30 TN el s gt &

Rl gemLaEn & avn |, S smrEree
) vty wifes swEm 4 20% 90 T2 IR
&) B v & sme # T o S § 8
16% 9 =¥ wm w2e o o=@ o 9w )
af2 adam S EE 80000 B, @1 oW 4 @9 o
SIS AT FEE A 7

(a)  DO000

ihy 91200

fe)  B2000

id] 92610




37.

The Problem of Hupes' was whose DSe | 38,
Thesia ¥
(a} Srn Aurobindo
ihy  Dr. Kajendra Prasad
et PiL Jawashnrlal Nehru
(d) D Bhimrap Ambedkar
What is the correct sequence of trbutaries of
the river Ganga from West to East ?
{a]  Yamuna, Ghaghara, Son, (andak and
Eosi
3] shaghara, Yamuna, Gandak, Kosi and
=TTy
¢l Yamuna, Ghaghars, Gandak, Son, and
A
il Ghaghara, Yamuna, Kosi, Gandak and
Somn
There are two crcles of radit ry; and r,
ir; < ry). The area of the bigger circle is
Ez:? em”. The difference of  their
circumferences s 22 om. What is the sum of
the dinmeters of the two circlea ? 19.
() 175 em '
thy 22 em
ied 266 em
idl 45 em
BMumbere Byl Bg B By oy B, AYe in
arithmetic progression u.m!
B, +a8, +8, +a +E‘EH+EE.I=EEE -
The value of
By 4E, 0 4B, R B R, i8
ial B3b6
bl 725
{el  Hbl
idi- 900
PA (12 -A)

-Lh—_——

Under the Constitution of India, which of the
following statements are correct 7

1. The Constitution is supreme,

x There is & clear division of powers
hetween thas Union mned the
State Governmentis.

3.  Amendments to the Constitution have
to follow the prescribed procedure.

4. The Union Parliament and the State
Legislatures are sovereign,

5, The FPreamble to the Constitubion
cannnt  be  invoked to  detormine
the ambit of Fundamental Bights,

Select the correct anawer using the codes
given below -

fal 1,2, 3.4 and 5
by Z 3 and 4 only
e} 1,4 andSonly
id) 1, 2 and 3 only

When the Government ownperahip in Poblic
Sector Undertakings i diluted, it is called

{a} Privatization

ibt  Public-Private Partnership
(e} Disinvestment

idi  Deflation

The Right to Free and Compulsory Education
Act, 2009 provides for education to every child
in the age group

{al B — 13 yeara
ib) 8 — 16 years
el T — 1o vears
dy & — 14 years




34, ‘¢ ofem w1 =f Femw DS = WAy

a1 ?
(at i swfes
ih)  El. T THE
(¢} W, TEAEE TEE
id) = HrE s
‘a5, T o o oEmrs REt wm sEm e @ R
A1 T sy R o
(a) TEA, 9N, HF, TR o wE
(h) TR, AL, TEE, FET HE A
(¢) WA, WG, TEH, HF I wE
(d) ETER, AL, WE, T2 S A
6. rlﬂﬂtrzﬁﬁlﬁ-ﬁulﬁrzr#—ﬁiﬁﬁlﬁﬂﬁ
i et S em? ¥ | e Rfed] s
22 em B | ZF I & FHE F ATES w0
t7
tn}  1T@cm
(hi 22em
) 25 cm
(dl 35em
37. ay, 8, aq, 8, Ag, . By HeEAT T AR H R
Hﬂ'{al+aﬁ+aw+am+am+aﬂ4=ﬂﬁﬁi|-
By + By + By F A Ay . Agg + By, T AH W
()
la) 525
(b) 725
el 830
(d} D0
B-CRHE-

38, WA & "igud & e, Fofafas seEi g @
wiAH AR 7

1, Hfeas wEE R

T Y AW U GEER] & = wheEa o
o faarea 2

3. dfars & wene & fau fafea ofem &
FAR FA AR |

4. W9 1wy A v fammd wwy # )

5. 7E afgwnt &t qfife & Faife 59 &
fan gfeum 1 w2 = wmee
Ferat = w1

# fim e g2 W wEm = A I e

{fa) 1,2,3,43W5

e o, 8 3 4

a1, 430 5

Hae 1,230 3

ik
e
id)

WE FEAWE HF % JOET § FeHl e
A T A R, A 3 R R R 7

PV CE CaL

(b} EEAME-A AEifE

(o) fafEn

dy e

frars v wited fian = wfiosn sifafam,
2009 e 3 1 F v T & o
TOEY WA R 7
(wy &5 19%M
by &- 1694
71694
6-143d

(el

i}

{13-A)




41.

If the Prime Minister of India is 8 member of
the Rajva Sabha

{a) He can make statements only in the

Rajva Sabha

ik}  He has to become o member of the Lok
Sabha within aix manths

i) He will not be able to speak on the
budget in the Lok Sabha

idy He will not be able to vote in his favour

i the event of a no-confidence motion

42, Which one of the fllowing formed the basic
premise  for  developing  the  Indian
Constitution ¥
{a) The Government of India Act, 1936
{bl  The U.5, Constitution
(¢}  The British Constitution
(dy The UN Charter

43, The Malimath Committee (2003) locked at
ways to reform the
ial  Edueational System in India
by Criminal Justice Syatem in India
fei  Copyright Laws in India
(d)  Publie-Private Partnership in India

44, What are the disadvantages of Provident
Fund Schemda 7
1. Money is inadequate for risks oecurring

early in working life.

2. Inflation erodes the real wvalue of
BEVINER.

3. It generates forced saving that can be
psed to fingnce national development
plans.

Select the correct answer using the codes

given below ;

in} 1and2 only

ib) 1and 3 only

{c) 2and3only

id} 1,2and3

B-urre-uer ek P

45,

(14-A)

Besides resistance to pests, whal are the
other prospects for which plants have been
genetically engineerad 7

1.  Toenable them to withstand drought

2. To increase the nutritive valoe of the
|ar|;|dun:e

3, To enable them to grow and do
photosynthesis in spaceships and space
stations

4, To increase their shelf life

Belect the correct answer using the codes
given balow :

{a) 1.2 and 3 only

(b 3and 4 enly

{e) 1,2 and 4 only

(dy 1,2, 3and4

Consider the following items

1. Consumer goods and services
2, Gross private domestic inveatment

3. Coods and services produced by the
Government

&+ Met ineome from abroad

Which of the shove ibems are included in
GNP T

fay 1,2 and 3 only
iby 1,2 and 4 only
{e) 3 and4only
(dy 1,2,3and4
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Oz WRE 1 Y9A 956 7= T W g R, |

(a) oF FEe U9 9Y § # oves 2 ot B

(b) J BE WA % el TG W O T
EEcilin

() ﬂmmﬁmmqﬁimm

(d) iy grare & foafy o a2 an ow A
et % amem

Fefafga 4 2 w9 = 9= 53 snafes 2

Fame wwH Hfoam e 29

(a) WA WA AUHIY (TEHdZ WG ghea
THE), 1935

by 1.8, & \iagT

ey Tafem wiegm

(d)  UN S

43. wifewy = (200m 3 Feedk gam & fm |

it w1 fa=m fwam o

(a) WA fer g

(b) WA T 2w =8 W]
¢) WHA ¥ wEtAarfiwr fafa
d) wrw 5 ol e aefe

ufgen fafl g &) skl #=n 8 7

1. wmEEl dEe & uoy d gfim gW s
gt % foaw ya svata wa R

O e e R o e R
=1 2R

9. T WiEW w=d wa @ s wmm
T T A e E
T A w R

1 fam o gz wm o T g

(a) e 132

(hy FHaw 133

(c) Hham 230 3

(d) 1,233

(15-A)

45. Tl & ofig F awmEn, o St =

ayred § Ge% Be 9 o= srERee
St e T & 7

1. 3 AAHEEE S
2. I9F F AT T R w0

3. TR smfemEEl T ohy =w # IR
T THI-BFCTE0 A & G =

4. I Tl g (9E AEE) & e
3 fau e g2 = wEm s o Ie gf -
{a) HFE 1,230 3

(b) ee 33 4

(c) et 1,230 4

(@ 1,2 334

Fr=firfian w2l w faam Hifi

O

2. wwd fll (weez) e Fem
3. HUEHW GRT IIieA g aan Hand
4. TaEwi & FEw o

Fwfw wEl § @ e e § wite fEn mm
L&

(a) EE 1,23 9
(b1 a1, 29 4
(el HEE 3 AN 4

Wl 1,2 334



47,

48,

Which of the following statements best
describea  the content of the theory of
distribution ?

1]

{b)

[c)

{d}

The distribution of income among
different individuals in the sconomy

The distribution of income between the
Centre and the State Governments

The principle of just distribution of
wealth and income

The distribution of inceme between the
owners of factor resourees

The demand for a factor of production is said
to be derived demand because

1.

It is a funection of the profitability of an
enterprise

the
complementary factors

It dependa on supply of

It stems from the demand for the final
product

It arises out of means being scarce in
relation to wants

Which of the abeve reasons isfare correct ?

{al
(b)
(e}
(d)

1 enly
3 only
Z and 4 only

1,2, 3 and 4

\PA,

48, Whenever countries set up a Free Trade Ares,
they abolish all restrictions on trade among

themeelves and

in) They establish a commaon external tariff
on imports from outside countries

b} They abolish all restrictions on imports
feam outstde eountries

fe)  They abolish all restrictions on imports
from other Free Trade Areas

() ﬁ:ar.h country maintaina its own set of

tariffs and quotas on imports from
outside countries

B0, Which of the following are the functions of
Foreign Investment Promotion Board (FIPE) 7
1. To ensure expeditions clearance of the
proposals for foreign investment

2 Te review periodically the
implementation of the proposals cleared
by the Board

3, To undertake all other activities for
promoting and  faclitating FDI
a2 congidered necessary from time to
time

4, To interact with the FIPC being
constituted  separately by  the
Ministry of Industry

Select the correct answer using the codes

given below

in) 1,2 and 3 only

ib) 1,2and 4 only

¢t 1,2, 3and4

id) 83and4only

(16=-A)
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47, Pt ww@ 4 @ S, B & fagm

) siadeg w1 @ =9 & it o 8 7

(a)  Sedemam § fafew s & de s
w1 famm

() S WO UFN wEE koA 5 W
T

(¢} EUTH TE 3 & gy fawm e

(d) ITEFA HEEE & i % de am w
e

. FeaEA & o ) gin ) sgew we A
®, Tl

1. =g el 3aw A 5 v
9, ¥R Ok wRE 6O W i R
3. w1 b Feoe & win 9 39 w0 R

4 TE SAEEEEMA § WE WA & e
LEEECER R

T A § W e AR
(a) FEH 1

(b) *EE 4

() E® 2 4

d) 1,2, 334

(17-A)

49, T off T FE qF S0 A wie % € 9

A W =R 9o afEe = e =
& # am

(a) o AW A W OBM ST WRW W U
TR AT W e W a W

(i F @l B OB PR @ ATl WoEd
ffrEe] 1 gHTE WO R

() o W HE WOW EA W OEF Al W
W at wiiee s A R

() wede BE, el d W BN I AEm W
-39 TIEE Y] hiF] & W= S
T #

. faeel 5w d=dw € (FIPB) % F=fafe

FE1 8 E T EE R Y
1. ool Few & fw w6 owfia P
(femita) ghifr=a ==

o wrE g P () e el F
F w1 A e

3. FDI 5 ¥ada ww g & fem
TULANE T ETEE WS T s '@l
feramem S0

4 T warer g wem & nfay feuow
FIPC % o s=iv=afiran s

e faw o g w0 w9 R wE I gk
() “HacT 1,230 3

(b) e 1,2 9 4

@) 1,234

(d) T 33 4
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1.

The term Dear Money' refers to

{a} Low rate of interest on housing loans
(b} Walue of money at the recession stage
(e}  High rate of intereat

{d} Savings gained doe to decrease mn rate
of interest on housing leans

A certain sequence of integers is constructed
as follows |

Consider 0 and 1 a& the first two numbers.
The next, L.e the third number is constructed
by their sums, ie. 1. Thie process of
constructing the next number by the sum of
the last two constrocted numbers continues,
Taking these numbera 0, 1, 1 aa the first,
socond and third aumbers in the sequence,
what will be the 7 and 10" numbers,
respectively 7

{a] & and 80
{7 andid
(gl Hand 34

(d) 10 and 39

The Rangarsjan Committes on disinvestment
of shares in Public Sector Enterprises
sugpested that

i, The percentage of equity to be divested
should be no more than 48% for
industries explicitly reserved for the
public sector and it should be either
T4% or 100% for others,

2, Year-wise targets of disinvestment
should be maintained.

Which of the above statements iafare correct 7
lal  lonly

(b} Zonly

(¢} Bothland2

(d] Neither 1 nor 2

aPA (18-A)

54. The Parliament can make any law for whole

or any part of India for implementing
international treaties

(a} With the consent of all the Statos

by  With the consent of magority of the
States

(el With the consent of the States
eoncernad

(d) Withouot the coneent of sany State

In the study of pollution, SPM refers to
(gl Sulphur Phosphorus Matter

(b}  Sulphur Particulate Matter

(e} Solid Particulate Matter

idi Suspended Farticulate Matter

Which of the following industries were first
eatahlished during the British Rule in India ?

{fal Cotton Textile Industry; and Jute
Induatry

ih} Jute Industry; and Iron and Steel
Industry

{e)  Cotton Textile Industry; and Chemical
Industry

idy Jute Industry; and Chemical Industry
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51, ‘wiT pr we fe R s g v B4
(a)  SETEE o W e s
(b} w1 = W g e
(e} = WA

() smErt = 9 oeg W 2 W E H
AN T WA

52w Fifvem s & s 5 Rl ey g
wafam farn mn 2 -

o wfifm, o ofm 1 sy i g EEd § |
241 % AmEA, FuwiE 1§ e s ded
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ﬂﬂﬂflﬂ_ﬂmﬂm:Wﬁ'ﬁ?
{m) 63fR a0
b 73 as
(o] &3 34
@ 103 39

51, wETHE 5w & Tow 8 & fafEm m
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1. H ) (wmm) & 9w fowe an

uftsrern, oA WEAEE 8FE 5 e

s weivit i fore aon @ o W |

e e, et s s fwmat |

100% B4t =nfen |

o fafEw = odan == wm o oW
=nfEe |

I el § ° PR wE A 7
F:1] FF 1

(by e 2

() 13 2EE

Wy A AdE2

B-CRHE-C —°7° (19=A)

g, wmuEE el & wEhE gy ae
WA o1 wed & faeh wm o R we Rl e
WAl #

(a) BT Tl i wEafy @

(bl S T ) qEE |

ic) w8

dy Tt o o o mufd & e

T & oA A, spM e Pl s i e
(a) FEE WERRH #2t
(h) BTHL Mg 921

(¢} TIOE WiEgee A
(d) WEFEE iegerE fe

wia | Tafew e & dhom Frafefas s 4
F FAE, TERYE T wm d 7

(a) WY T IO AW 9TER M
(b} TEEA T w1 SR 3w FEm
(e) W ST W, TR TR TEM

(d) TEES UM ; T TS IEm
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a7.

Which of the following are the roles of the

Finanee Commission 1o Inda Y

1.  The distribution of money collected
through taxes

2 Evaluation
echamas

of Centrally sponsored

4.  Ewvolve principles based on which funds
are allotted among States

4.  Todevelop Five Year Plans

Select the correct enswer using the codes
given below ;

{a) 1and4only
b} 1 and 3 only
e} 2and 4 only
(dd 2 and 3 only

Which of the following statements are correct
regarding the International Monetary Fund
(IMF) 2

1. Indiais a founder member of the IMF.

2. India’s quotd in the IMF is more than
4 percent.

4. Finanee  Minister iR
ex-officio on the IMF.

represented

4. IMF eondocts regular review of India's
economic status under Article [V,

Select the correct answer udaing the codes
given below

(o} L. Zand3donly
iby 1,3 and 4 only
el 2and4 only

fdl 1,2, 3and4

\PA (20 =A)

A firm iz purchasing two lems, both on credit
on the same day. The credit term offered
for the first item is 2 ﬂl-j"lll 1,20, net 30; and
the credit term ui'femzd for the second item
is 3/5, 215, net 30. The declared purchase
cogt of item 1 iz T 60,000 and that of item 2 is
# 1,40,000, 1f both credits can be settled on
the 147 day, what will be the total amount to
b paid out?

() ¥ 1,97,200

(b) ¥ 197500
cd ¥ 1.96.600
idy ¥ 198400

What was  the held by
Iir 8 Radhakrishnan, before he became
the Viee-Pregident of India ?

position

ia) Ambassador to the US.A,

{b) Chairman, UG

{¢) Chairman, Planning Commissicn

idi Ambassader to the Soviet Union
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p7. FeafefEs & 7 FRA0, wmm | fam s &

wfirwrd # 7
1. %A g I e et w6
2. % o wrifim avers o et

3. 3 fugm = fEwim s Ged aman
W o & de et s sz B B

4, vEENTn Ao s fsfim s
S RECREE TR R i R
fa) e 19N 4

(b) WREE 1 AW g

{c) WEmasi4

fdy @2 e g

: amiﬁfh:ﬁ?rﬂﬁ#ﬂm,ﬁ%mﬁﬁnﬁﬁha

Fut 0 H W wd
1. YEE IMF = 5 T2 R

2 IMF ¥ WA ®1 %2 4 Wewa 8 e
21

3. IMFPY fam w&t w2 s s R

4. IMF, 3i=ss IV & adi, ora &1 anfd
feufs = Frafam qafiam = 7

i faw ™o 5w = @ = wE I g
{m) HEE 1,233

(bl FEE 1,334

(o) HEerzai 4

(d 1,2,834

(21-A)

B9. 1§ w1 AEgen W, T B 3UR @i

uw A R R | el g & o i
T m Jum FEve (g o) zéhn, 1/20,
Fae a0 #; oft o0 9w & fom s fiem
T Fur P (e =) a5, o/15, Fas o
# | o 1 OfE w7 ATE T 60,000 § i
weg 2 Hit Uiftm s wmm e 140000 % | R
o 3UR 149 2R wuwifa feu @ e §, &
e £ FH ATt = O o 7

(8) ¥ 1,97,200

(thy & 19750

() F 186,600

fdy ¥ 198400

. WA o omoaeef = % ure = TH

TPETER B EVHA 97 R Ay 7
(a) U.B.A 8 Trom

(b} U.G.C. % ey

(e) AT FRT ST
(dy A WY T

11



1.

There are 20 girls and 30 boys in a clnas, and
their respective average marks are found to
be 55 and 58, The averape marks of the entire
closs are

fa) B&b
(b} 066G
{c) BBT
{dy 5668

Consider an industry with the following
features ;

® Budgeied monthly fxed ecost =
¥ 2,20,000

. Normal monthly output = 12000 per
gtandard labour hour

. Standard variable overhead rate = ¥ 26
per labour hour

Whal woild be the total factory overhewd
rate 7

{a) ¥ 40-33 per labour hour

bl ¥ 41-87 per labour hour

(e} ¥ 42:87 por labour hour

idy ¥ 43-33 per labour hour

Apid rain is due to

fa)  Bulphur dioxide pollution

(bl Carbon monoxide pollution

izl  Pesticide pollution

id)  Dust particles in the atmosphere
DNA fingerprinting is a technique used for
the detection of

fa)  Alzheimer's diseass

ih} Disputed parentage

e} AIDS

(di Yellow fever

T4 [22=A)

6%5. There are four identically sized and shaped

balls in a box, with only its top open. Each
ball is of a different colour, these being :
Green, Red, White and Blue, only one ball of
each colour. Without looking ints the boe, one
ball ir randomly picked out and its colour is
noted; then it is returned to the box, What are
the chances that, in twd succeasive draws, one
may get the white ball and the red
ball — in whichever order ?

fmy  1/16
b} 18
e} 14
dy 12

Consider the following programmes
1.  Credit Linked Capital Subsidy Scheme
2 Micro Finance Programme

4, Mational Manufacturing
Competitiveness Programme

4.  Cluster Development Programme
What is commaon in the above programmes ?

(n}) They are related fo  Improving
ngriculture

(b} They are programmes related to Miero,
Small and Medium Enterprises

icy  They are programmes to improve large
weale industrics

{d} They are programmes to improve the
traditional cottage industries

BPAM in a system (e-maill is

{a) A message distributed indiscriminately
(b} A search engine

ie)  An activity of the user

{d} A command initinted by the sender
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T A F FEE: 65 HW 68 R | wan
o ) @ g W R o

@l 565
(bl 566
(c) G667
(d} 668

frferig aifueresm are TRl 3 T faem

i

« w1 ws AifEe Pram wm - ¢ 200,000

. H_ﬁlﬂmmﬁﬂmaﬁmm
7 Eal

o TFET TiaEdl 390 = = F 25 Uid w9 g

et 1 e I9iETE = Eeh 7

(n) ¥ 40-33°fR g g
by ¥ 418790 w5
(e} T 42-67 9 WW w
() ¥ 43-33 90 W =

Sty @l e e gl 2 7
(a) T BEATFRTSE W
(b} WTEA HAIEEEE TR

(¢) HEFTIE SR
(d) T g

DNA W (R a9=is = 3538
formek dgem % fom fem =mm 8 9

(n) STETAEE (Alrheimers) T
(hy  Terefem s

ic) AIDS
) fm v (e f)

66, THI W 3R sEN & 9% 75, FEAE S0 @

67.

(Z3-A)
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H #

) 7 W2 fmm % T % qum % fm
T F

(dy @ WHE FEN IRl & guw & fom
FriE #

firedt wr (.8m) o ofm (SpAM) w0 B & ¢

(ay g Ry T v e a2

by = () g

{c) IvErTERAl S TRy

(d) UuE T WReN few oo w§ mWed
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B8, A cylindrical closed tank containe 36= cubic

T,

metres of water, and iz filled to halfl of its
capacity, When the cylindrical tank is placed
upright on its circular baze on level ground,
the height of the waler in the tank ia 4 metres
But when this tank is placed on ita side on
level pround, what will be the height of the
surface of the water shove the ground ?

ta} 8 metres
(hi B metres
fck d metres
il 1 metre

Data regarding inventery of a particular item
of usage in the production activities of an
organization are : the guantity in stock is
1600 wnits and the walue of thiz sock is
F 127500, (Thia works out to an average
unit cost of 860 During the ensuing vear X,
nn gckditional 300 units are purchaesed at a
wnit eost of T 95 Consumption in production
processes during the year X has  besn
00 unils, Working by the First-In-First-Out
basie, the value of the residual inventory
of the item ot the end of the vear X will be

fad 7 1,00.000
by ¥ 1,002,500
() = 1,06, 0060 =
d} ¥ 1,07,500

Constder the following atatements about All
Indin Radio ;

1, It is governed by the Prasar Bharati
Board.

2. It was sonamed in 1836
It does oot provide D'TH aetvices,

FM HRainbow and FM Gold are s
subsidiary channels,

Which of the aheve statements are correct, 7
tal 1,2 and 3 only

by dand4 only
el 1,2 and 4 only
dl 1,2, 3and4
A, (24 —A)

T1.

T2,

T3

The famous 'Giri' aspproach in  Industrial
Belations in India sspouses the cause of

() Adjudication

(b Compulsory Collective Bargaming
{el  Conciliation

id) Arbitration

In & race, the first four winoecs are fo be
awirded points. Each winner's paints must he
6 mwore than that of the next position winner.
Total sum of the peints to be awarded iz 50,
What will be the peints for the third position
winner 7

(al 30
(b 20
{c} - 10
dy 5

Which of the Tollowing trends in FD1 inflows

are correct 7

1. In 2003 - 04, the FDI Egquity inflow
percentage growth was negative.

A From 2004 = 05 to 2007 — (8, the FII
inflows were very high and positive.

3. [n 2008 - 04, the FDI inflows wers
pusitive, but had decreased relative to
the previous year.

Select the correct answer using the codes
given below ;

t8) 1 and3ondy

b 1,2and3

el 2anddonly

(dy 1and?2only

L-—__
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3 W W s & gt Wi B | 9
TEFTER T W WO 4 W gEE gAen
wan @ @ e oW B, W 2R 8§ oam R
Far 4 e &t & | @R s s dR oW
auas il or gEE s moa A, @ oyE e
w1 TS & Hard gy i e

fa) BHEE
b BEE
) §H=
il 18
el geen & gearg o) rfafafEt § aggm g
s e fedt Tl @ 6 sl weaeh

siwE 39 TE0 B - =0E R A 1500 v R
3 36 W=iF I 09 € 1,279,600 ® | (3HE O
vl atad @rm T an TrRedm 8 1) s =g
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7.

In raising an ohject to & given height by | 78, Which one of the following software
means of an inclined plane, as compared with applications would be the most approprinte
raising the object vertically, there i= a for performing numerical and atatistical
reduetion in caleulations ?
{n}  Force to be applied {a} Database
bl Work required (b} Spreadsheet
o) Distance covered \ Grachi ka
{d} Friction force . PP IR
() Document processor
The mean and standard deviation of a set of
16 non-zero positive numbers in an | 79 Consider the following statements on Glebal
ohservation are 28 and 3-5 respectively. The Positioning System (GPS) ;
mean and standard deviation of another set of 1, GPS allows accurate time-stamping on
24 npon-zero positive  numbers  without ATM tranesctions
e A 7 2 GPS relies on a set of satellites for
observations, are 289 and 2, respectively. The ' el P ldwid
mean and standard deviation of their T TR R &
eombined set of ohasrvations will respectively Which of the above statements iafare correct 7
be tad 1 only
(b 262 and 322 (¢) Dothland2
e} 278 and 3-32 {dl Neither 1 nor 2
idl 262 and 3-21
B0. Coneider the following statements

A sinusmdal transverse wave is travelling on Callilis tadmalopy: wvolvie. 5 stogre colled
# gtring. Any point on the string moves in G o 0 it
{a) SHM with the same angular frequency !

as that of the wave L A Genseration representa the number of
(® SHM with o different frequency than sbaceibinns:. highbr: Senacation. | hax

that of the ware more subseribers.
{el  Uniform cireular motion with the same 2. 3G technology has two atandards

angular speed as that of the wave CDMA and GSM.
(d}  Uniform circular motion with a different 3. 20 technology has CDMA standard and

angular speed than that of the wave 3G has GSM standard
The dewvices that work with computer systems Which of the above statements isfare correet 7
as soon ae they are connected are described as ) and 8 dnly
(al Hot Swapping b} 1only
(b} Bay Swap e} Sonly
ek Plug-N-Play (d) 2only
idd  USE Swapping

BA (28-A)
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Bl.

LAN, WAN and MAN are computer networks
covering different areas. Their first alphabets

L, W and M respectively stand for

{a} Local, World and Middle

(b} Long, Wirelesa and Metropolitan
(e} Laocal, Wide and Metropolitan
(d} Least, Wireless and Maximom

A rectangular garden is to be twice as long as
its width. If 360 m of fencing including gates
will totally enclose this garden, what is the
length of the garden !

(al  120'm
(by 180 m
ic) 140m
(dl 150m

The ‘Cloud Computing” technology refers to

{a) A aetof algorithms that solves problems

using fuzzy logic

(hy  Many computers that are
interconnected through wireleas
networks and satellitea

fe} A distributed computer architecture
that provides software, infrastructure
and platforms just as required by
applicationa/users

il A futuristic technology that will use

clonds to perform computing

P

B4,

BT7.

[28=A)

Conzider the
Nann-technology :

following  statements. for

1. Itis the technology of creating materials
and devices atom-by-atom.

2,  Physical properties change ot
nanemeter seale,

the

3. Chemical properties change at the

nanometer seala,

Which of the above statements are correct 7

ia¥ 1and2only
(bl 1 and 3 only
{e) 2and3only
id 1,2and3

The Large Hadron Collider (LHC) used in the
CERN project is & pariicle accelerator located
om the border betwean

ia} Spain and France

(b} France and Germany

{c)  Bpain and Switzerland

{d) France and Switzerland

The method of communication in which
transmission c¢an take place in  both

directions, but happens only in one directior
at a time, is called

ia)  Duplex

(b)Y  Half Duplex
{¢) Full Duplex
idy Simplex

A collection of programs that contrela how th

computér svatem runs And  processe
information is called

a) Compiler

(b}  Operating System

ey Linker

(d)  Assembler
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8.

- \PA

SMPS is the acrenym for

(a)  Store Mode Power Supply
by Single Mode Power Supply
iel  Bwitch Mode Power Supply
fdr Start Mode Power Supply

USE is the scronym for

() Uniform Service Broadeasting
{b)  Unique Solution Bus

il Universal Serial Bus

id} Universal Service Brosdeasting

In a chess tournament, each of the six players
will play with every other player exactly once.
What is the number of matches that will be
played during the tournament 7

(a) 10
thy 15
1 I
(d) 25

The Maternity Benefit Act, 1861 {M.B. Act)
provides for how many weeks’ wages during
the maternity period 7

(a) 11 weeks
ih} 12 weeks
e} 13 weeks
d) 14 weeks

(30-A}

Which of the following are the instruments of
providing soeial security in India 7

1. Income Tax

2.  Emplovees’ Provident Fond
3.  General S8ales Tax

4 LIC

5.  National Pension Scheme

. Poatal Provident Fund

Belect the correct answer using the codea

given below :

{a) 1,2 3and4
{b) 2,8, 4andb
e 2,4,5andé

id} 3,4.5and6

A man buyz applez at a cEriAin price per
dozen and aella thermn at 8 times that Price per

hundred, What percentage does he gain or

loge ?

ta) 4% profit
by &% profit
tel 4% logs
{d) 6% loss
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B4,

For which time intervals, is the percentage
rise of population the same for the following
data T

Period Population
1970 | 40000 |
1980 50,000 |
1954 G0, 000
2000 72,000
2010 8,000
(a) 1870 - 80 and 1980 - 80
(b} 1880 — 890 and 1990 — 2000

e} 2000 — 2010 and 1980 — 2000

id) 1880 - 90 and 2000 - 2010

Four quantities are such thal their anthmetic
mean (AM) 18 the some a3 the AM. of the
first three quantities, The fourth quantity is

(a)  Sum of the first three quantities
(hd
fe

(d}

A.M. of the first three quantities
{Sum of the first three quantities)/d
(Som of the first three guantities)f2

If the difference of two numbers is greater
than the sum of the numbers, then

(a) Both the numbers are negative

ib} Exactly one of the numbers is negative
e} At least one of the numbers iz negative
td)  Nome of the above

A palindrome i3 8 number which reads the
same from left as well as from right, for
example, 23732, What is the nomber of
palindromes between 10 and 1010 7

{a) 11
thl 100
.
idy B0

A,

104

In writing all the integers from 1 to 300, how
many timss is the digit 1 used 7

ia} 160
b} 140
ey 1)
dy 110

Consider the sequential integers 27 to 23,
both included in the sequence. The arithmetic
average of these numbers will be

(a) G615
(b} &1
e} &6
(dd GO

Congider the following statements in respect
of Atal Pension Yojana :

1. Bepeficiary must be in the age group af
18 b 40 years,

2. Beneficiary will receive the penaion only
after he attaing the age of 60 yeara.

3. Aler the death of n beneficiary, his
apouse continues to receive the pension.

4, No nominee of the beneficiary is
permitted.

Which of the above statements are eorrect ?

(&} 3 anddonly

ihy 1,3 and 4 only

e} 1,2 and 3 only

id) 1,2 3 and 4
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T i wfE 8 g d g

T S

1970 0000 |
| 1980 50,000

1980 0,000

2004 72,000

2010 B0, 000

1970 — 80 3 1980 - 90
1980 — 90 311 1990 - 2000
2000 — 2010 3 1990 — 2000
1980 = 90 3T 2000 — 2010

= Tt T # e o e (AML) T
# = e o ufir s e e AM R )
et i v @ 0

(a) W A it = oEw

(b) W Hi IO S EOT HTE (AML)
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) [z = ol e ) 2

of% & dEmE W AR W sl ¥ Shred
B sfirs 2, A

(a) =1 Wl o #

(by TEmE: B B & U e wOaE R
() B H U wOHHY v ey woAE B
(d) 0w H & i

Yogm o U wmn B, 9wl o g, 2
3 &, gue o = 2, sEeen % R 2aTae
:| 10 31 1010 % e gt £ 5= w@
?

(a) 101

(b} 100

¢) @9

(d) 90

fal
{h)
LB
id)

88,

1040,

(33-A)

1% 200 7 A1 oiw fmd & o 1w wEm
Fermt = fopm = & ¢

164
140
120
110

(a)
(b}
(el
(el

wze TR e+ faem § FBofafim sl o

feram #ifam .

1. et 18 F 40 9f & amgat # f g
=iy |

2. Tl % 3k g0 & 3 T w &
I # S e Eef

3, Tl aaelf f g w0 o9W & awoe

I g goit #1 Tee faewl geft
4. w5t ol e o s o R
I WAl § O wed wd o
fa) EE 334
b wEe L3N
) wEw 1,230 3
d) 1,233 4




101.

102,

103.

104.

Walking st 3/4™ of his usual speed, A man
reaches his office 20 minutea late, What 15 the
time taken by him to reach the office at his
usual apeed ?

{a) B0 minutes
(b} 70 minutes
(e} 60 minubes
d) 50 minutes

Consider the following statements regarding
the Pradhan Mantri Suraksha Bima Yojana -

1. It iz applicable for all bank account
holders up to the age of 60 veprs,
2 It is a life insurance cover.

It is an accident insurance cover,

The insurance covers death and
permanent dizsability due to accident.

Which of the above statements ars correct

(a) 1and2only
ibl 3 and 4 only
e}  Z2and3 only
{(dl 1 and4only

Apnd B run a 1 Km race. A gives B a start of
60 m and still beatz him by 15 seconds. 1F A
runs at 8§ km'h, what is the speed of B 7

fa) 44 km'h
ik} B4 km'h
ier 64 km'h
{(dy T4 kmh

In a race of 1 km, A can beat B by 40 m and B
can beat C by 50 m. With how much distance

coan A bent C ina 005 km race
ia) 42m
thi  4#3dm
led #4m
idl 45m

LPA

106, In an office, 40% of the emplovees are men |

104,

107,

and the rest women. Half of the employees
are tall pnd half short. If LM% of the
employess are men and shord, and
40 emplovees are women and tall, the number
of tall men employees 15

ia) @0
b} G0
ed 40
{d} 30

Which of the following were the main aspects
of the Gandhi-Irwin Pact of 1931 7

1. Suspension of the Civil Disobedience
Movement

2. To tuke part in the then forthooming
Bimla Conference

3. Pay taxez for the period of the Civil
Disobedience Movement

d, Release of Political Prisoners

Select the correct
given below :

the codos

answer Usimg

ia)  1and?3only

bl 2and 3 only

iel 1 and4only

{d} 2 .and 4 only

Which of the following 15 mof an absolite
measure of dispersion ¥

ia) Range

(b  Mean Deviation

{c)  Quartile Deviation

(dy Coefficient of Variation
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108. A provisions shop-owner is found to mix 25 kg

109,

11,

of rice worth ¥ 32%g and 20 kg of rice worth
¥ 35/kg and the mixed rice {4 sold at 16%

profit. What is the selling price of the mixed
rice 7

tal ¥ 35-dlvkg
by F 3833 0hkg
e} T 365k
(d) T 37T-42%kg

The original lay of a rectangular plot ABCD
on open ground is 80 m long along AB, and
60 m wide along BC. Concreted pathways are
intended to be laid on the inside of the plot all
argund the sides. The pathways along BC and
DA are each 4 m wide. The pathways along
AB and DO will mutually be of equal widths
guch that the on-concreted internal plot will
measure three-fourth of the original area of
the plot ABCD. What will be the width of each
of these pathways along AB and DC 7

ial 3m
b} 4m
el Sm
id}y 6&m

At & dinner party, every two guesis used s
bowl of rice between them, every three guests
used a howl of dal among them and every four
guests used a bowl of curd among them. There
are altogether 86 bowls. What is the number
of guests present at the party ?

La} B
(b} B8O
e} 70
{dy &0
SAPA

111

112,

113,

114.

(36-A)

Social Securily may provide cash benefits o
peraons faced with

1. Sickness and disability

2, Unemployment

3. Crop failure

4. Logs of the marital partner

Belect the correct answer using the ecodes
given balow :

{al 1,2 and 3 only
{b) 1,2 and 4 only
el 3 and 4 only
id) 1,2, 3and4

If 5 men and 9 women can finish a piece of
work in 19 days, 3 men and 6 women will do
the same work in

(a) 12 days
(b} 13 davs
el 14 days
id) 15 days

If the radius of a circle is reduced by BO%, its
area will be reduced by

la)  30%
by 50%
{cl  B0%
idy  75%

Employees State Insurance Act, 1948 covers

factors like

1.  Factories and establishments with 10 or
more ernployees,

2, Provigion of comprehensive medical care
to employeea and their families,

3,  Provision of cash benefits during
sickness and matermity,

4.  Monthly payments in case of death or

disablement.
Which of the above statements are correct 7
{al 1, 2and3only
{b) 1,2 and 4 only
icl 3 and 4 only
d) 1,2 3andd
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116. Consider the following statements regarding

118.

the Pradhan Mantn Jeevan Jyoti Bima
Yojana :

1. It is applicable to all adults above the
age group of 18 vears,

2. The premium is deducted from the
account holder’s bank account through
‘auto debit facility’,

3. The life insuranee worth is decided by
the account holder and he has to pay
the annual premium accordingly.

4.  The life insurance amount is given to
the family after the death of the
subzeriber,

Which of the above statements are correct ¥

{a) 1 and 3 only
ik} 1and4donly
(el 2 and 4 only
idl  2and3only

In an examination paper where maximum
marks are 500, A got 10% marks less than B,
B got 25% marks more than C, and C got 20%
marks less than D. If A got 380 marks, what
marks did I get 7

(a) 656%
bl TO%
lel  TH
(dy B0%
B-CRHE-C-PAPA

Directions : Each of the next four (04) items
congigts of fwo statements, one labelled as the
‘Statement (1) and the other os ‘Siotement (I1)
Examine these two stotements carefully ond select

the answers to these ifems using the codes given
below ;

Coddes :

()

(b

(o)

(d?

117,

118,

119.

120,

(3B-A)

Both Statement (I} and Statement (IT) are
individually true and Statement (I1) is the
correct explanation of Statement (T)

Both Statement (I} and Statement (11 are
individually true but Statement (1) is mot the
correct explanation of Statement ([

Statement (I} is true but Statement (1D is
falsa

Statement (1) is false but Statement (1) is
trug

Stafement (1} . The effects of an income tax on
consumption, saving and investment are
migre effects.

Statement (1) : Income tax is an example of
direct tax.

Statement () @ Trade botween two countries
takes place on account of differences in costs.
Statement (ff) : Different countries have
different factor endowments.

Statement (1) ; Foreign investment may affect
i eountry's export performanes.

Statement (II) : Inflow of foreign exchange
may cause appreciation of local currency
leading to a rise in the price of export
commodities,

Statement (1) : Speaker of the Lok Sabha
appoints the Chairman of the Public Accounts
Committes.

Statement (I1) Members of Parliament,
eminent persons from industry and trade are
the members of the Public Aescounts
Commities,
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(d) B0%
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) wET (1) 3 # R D wes 2
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By
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